Sample Problem Answers:
1.  An amorphous solid lacks well defined structures and its particles have no orderly arrangement, whereas crystalline solids have well defined shapes and an orderly arrangement of particles.
2.  Intermolecular forces vary throughout an amorphous solid, so the solid melts over a temperature range instead of a specific temperature.
3.  Body-centered cubic
4.  10

5.  1/8 of an atom
6.  MgCl2 , Higher charges than KCl, strength increases as charges increase in ionic bonds.
7.  Xe, has a higher atomic weight and greater dispersion forces, making it form stronger bonds and therefore a higher melting point.

8.  Ni, has more valence electrons than calcium and bond strength as number of electrons available for bonding increases (stronger bonds = higher melting point)

